: &

| 25 | 26m | 1=11,74m 2=216m 3=377m J
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sliding hanging climbing meetr;g e

x1 x1

_ Number of play elements: 7




@ The fisherman's hut HT: 1.37m - G2701
@ Incline net HT: 1.37m - G2712

® Ladder HT: 1.37m - G2710

@ Rape-ladder HT: 1.37m - G2711

0 @ Acrobranch - G2730

(® The treetop hut HT: 2.2m - G2704

Impact area =
— |r1]F)Ei(:t area
— O E— Free space

@ Slide HT: 2.2m - G2722

[i5

Point de Référence
Setting Out Point
Punto de referencia

Bezugspunkt
Referentiepunt

1 0,6m 4,5m2

2 im 10,5m?

15,16 3 1,37m 14,5m2

4 2,2m 18,5m?

< \ 5 2,6m 22m?

/ 3 SRR

EALIS R ) S
2Ol eI T 10

DO

28h00  0.5m?

1176

70m2  6llkg  81kg

2012-11-29




